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[Solution to the sum given in page 43

Since the product of b by b is a number which ends in b, b
must be 1, 5, or 6. Since the product of ab by b is a number o
three digits, b can not be 1. The result of the subtraction of h
from e is e, hence h=0, and therefore if b=5 we have f even
and if b=6 we have f=5 Also the result of the subtraction of ¢
from g is ¢, hence g=2c, and therefore, ¢ can not be greate
than 4 : from which it follows that b can not be 6. A few trials

now show that the question arose from the division of 19, 775
by 35]
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